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DIAGHOSTIC TESTS

B | DIAGNOSTIC TEST: ANALYTIC GEOMETRY

—1

1.

Find an equation For the line that passes throogh the point (2, =57 and
(a) has slope —3

(b} is parallel o the v-axis

(eh s parallel o the y-axis

(dy is parallel w the line 2x — 4y =3

Find an equation for the circle that has cemer {— 1034 and passes through the point (3, =2

Find the center and radius of the circle with equation x° + ¥ — fix + 10y + 9 =10,

Let A{—7, 4) and B(3, —12) be points in the plane,

{ad Find the slope of the e that comains A and £,

(b1 Fand an equation of the line that passes through A and B What are the interceps?
() Find the midpoint of the seoment AR

[y Find the length of the segment AS

(e3 Find an equation of the perpendicular bisector o AR

(£ Find an equation of the circle for which A is o dizmeter,

Sketeh the region inthe aov-plane defined by the equation or imequalities,

(a) =1=y=3 (b |x] = dand|y] =2

(@ y=<1-3x (dy y=x'—1
{e) x*+y* <4 (Fy 90 + 16" = 144
AMSWERS TO DIAGHOSTIC TEST B ANALYTIC GEOMETRY
lLia) y=—3x+ 1| b} y= -5 .0 w b ¥ [cl '
¢y x=12 (d) ¥y =3~ 6 B e : B, | 7= 3
et 5
2. (x+ 1P+ {y — 4 =52 0 ! 'r | B
' -1 H Y B Ui e,
3. Center (3, 35 radiug 5 ===z
4 () —5
(by dx + 3y + 16 = 0: x-intercept —4, y-intercept — '} i) T A
l:_|_']|:' ], —4) J =4
(dy 20 P
i) Ar—dy =13 : ‘-.U'E_‘ -
(0 {x+ IF + (¥ + 4F = 100 | b

If you have had difficulty with these problems. you may wish o consull
the Review of Analytic Geometry on the website wewstewartealculus.com.




